/DVIRB

3UDFRZQLN 5RINiDG  GU 3UDX]QHU 7RPDV] 7\J

7\6]

GULQT *HPELFIDN 7RPDV] GU 3UDX]QH
7RPDV] $  352727<32:1$

" =03 / 3RHNI QTI\QIHU
SUT\VI:RGFL Z EUDQT\ PRIRI\]DF\IQHI

, 7110

7\6]

GULQT =HPEIF]DN 7RPDV] GU 3UDX]QHY
7RPDV] $  352727<32:1$

= =03 / 3WRHNI QT\QHU
SUT\VI{RGFL Z EUDQT\ PRIRUN]DF\IQHI

Y%

7\G]

GU 3UDX]QHI 7RPDV] $
352727<32:1$ " 03 /
3URIHNI ,QTNQUHU SUT\VI:RGFL Z EUDQT\
PRIRUN]DF\IQH!

7110

7\G]
GU 3UDX]QHI 7RPDV] $

PRIRUN]DF\IQH!

Y%

352727<32:1$ " 03 /
3URIHNI,QTNQUHU SUT\VI:RGFL Z EUDQT\

Y%

Y%

P
I 7\G]
a GU 3UDX]QHU 7RPDV] $
oy 352727<32:1$ " 03/ _
T 3URIHNI,QT\QIHU SUJ\V]:RGFL Z EUDQT\
o PRIRIJDF\IQHI
g %
7\G]
GU 3UDX]QHU 7RPDV] $
352727<32:1$ " 03/ _
BURIHNI ,QT\QIHU SUJ\V]:RGFL Z EUDQT\
PRIRIN]DF\IQHI
%
7\G]
GU 3UDX]QHU 7RPDV] $
352727<32:1$ " 03/ _
3URIHNI,QT\QIHU SUJ\V]:RGFL Z EUDQT\
PRIRIN]DF\IQHI
7110
7\6] 7\G]
GULQT ~HPELF]DN 7RPDV] GU 3UDX]QHY |GU 3UDX]QHU 7RPDV] $
7RPDV] $  352727<32:1$ 352727<32:1$ " 03/ _
" 203 / 3URIHNI ,QT\QIHU BURIHNI,QT\QIHU SUJ\V]:RGFL Z EUDQT\
SUT\V]{RGFL Z EUDQT\ PRIRIN]DF\IQH! PRIRIN]DF\IQHI
% %
7\6] 7\G]
z GU 3UDXJQHU 7RPDV] $ GULQT ~HPELF]DN 7RPDV] GlU 3UDX]QHY
2 352727<32:1,$ " 03 / _ 7RPDV] $  352727<32:1,$
< SURIHNI ,QT\QIHU SUT\V]iRGFL Z EUDQT\ " 203 / 3IRHNI ,QT\QHU
N PRIRI\]DF\IQHI SUT\V]iRGFL Z EUDQT\ PRIRIN]DF\IQHI

7\6]
Gl 3UDX]QHI 7RPDV] $

PRIRUN]DF\IQH!
%

352727<32:1$ " 03 / _
3URIHNI ,QTNQUHU SUT\VI:RGFL Z EUDQT\




/DVIRB

3UDFRZQLN 5RINiDG  GU 3UDX]QHU 7RPDV] 7\J

7
3 OHIRGRIRJLD EDGDE QDXNRZ\FK L JD]aG]DQU
& ZiDVQRGFLa, LQIHIHNIXD) GU 3UDX]QHU 7RPDV]
2 $ -03%0 /
SURIHNY
7N
> OHIRG\ND VINRIHE %+3 G
£ U 3UDX]QHU 7TRPDV] $
= S03.%, =%:
a
N 7\J
A
w
OHIRG\ND VINRIHE %+3 G
U 3UDXJQHU 7TRPDV] $
S03 %, =%&
7 7\6] 7\6]
OHIRGRIRJD EDGDE QDXNRZ\FK L 1D]aG]DQUH| | OHIRG\ND VINRIHE %+3 OHIRG\ND VINRIHE %+3 G
ZiDVQRGFLa, LQIHIHNIXDY GU 3UDXTQHU 7RPDV] | ||GU 3UDX]QHI 7RPDV] $% U 3UDXJQHU 7RPDV] $%
$ -03%0 / 03 %= =% 03 %= =%
SURIHNY : &
7\G] \G]
OHIRG\ND VINRIHE %-+3 OHIRG\ND VINRIHE %+3 G
GU 3UDXJQHU 7RPDV] $% U 3UDXTQHU 7RPDV] $%
03 %= =% 03 %= =%
- &
z 7\6]
5 OHIRGRIRJLD EDGDE QDXNRZ\FK L 1DU]aG]DQIH Z:DVQRGFa,
= LQIHHNIXD? GU 3UDX]QHU 7RPDV] $ 03 %6 /
SURIHNY
7\6] 7\6]
OHIRG\ND VINRIHE %-+3 OHIRG\ND VINRIHE %+3 G
GU 3UDX]QHU 7TRPDV] $% U 3UDXJQHU 7RPDV] $%
03 %= =% 03 %= =%
- &
7\6]
OHIRGRIRJLD EDGDE QDXNRZ\FK L 1DU]aG]DQIH Z:DVORGFla,
LQIHIHNIXD! GU 3UDX]QHU 7RPDV] $ 03 %6 /
SURIHNY
7\G] 7\G]
ZHFKQINL IQIRUPDINF]QH Z JDU]aG]DQLX EH]SIHFTHEVIZHP SUDF\ (DE G ZHFKQINL LQIRUPDINFTQH Z JDU]aG]DQLX EH]SIHFJHEVIZHP SUDF\ IDE GU
3DXJQHI 7RPDV] $  352727<32:1,$ " 63 - 03 %+3 3DX]QHI 7RPDV] $  352727<32:1,% " 63 z 03 %+3
o 7\6] 7\6]
x OHIRGRIRJLD EDGDE QDXNRZ\FK L 1DU]aG]DQIH ZiDVQRGFLa LQIHIHNIXDGU 3UDX]QHU 7RPDV] $ OHIRGRIRJLD EDGDE QDXNRZ\FK L 1DU]aG]DQIH Z:DVQRGFa,
4 % 03 %6 / LQIHHNIXD? GU 3UDX]QHU 7RPDV] $ 03 %6 /
> SURIHNI SURIHNY
7\6] 7\6]
OHIRG\ND VINRIHE %+3 GU 3UDX]QHU OHIRG\ND VINRIHE %+3 GU 3UDX]QHU
7RPDV] $ 03 %= =% - 7RPDV] $ =03 % =




/DVIRB

3UDFRZQLN 5RINiDG  GU 3UDX]QHU 7RPDV] 7\J

QLHG]LHOD

7\6]
*\GDNIND Z VINRIHQLX %+3 FZ

GU 3UDX]QHU 7RPDV] $

63 - 03 %+3

7RPDV] $
%+3

“\GDNIN\ND Z VINRIHQLX
%+3 Z GU 3UDX]QHU

7\G]

63 -03




